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5. (10 pts) An insurance policy reimburses a loss in excess of a 250 deductible. The policyholder’s loss, X, follows
an exponential distribution with mean 1,000. What is the expected value of the benefit paid under this
insurance policy?

6. (10 pts) Let Xy, X5, X3, Xsbe a random sample from Bernoulli distribution with mean p, 0<p<1. Do not use any
existing formula from any table.

(=) Find the moment generating function of Bemoulli distribution (p) (show your work to get the MGE)

(b) Using the method of moment-generating function to prove that Y= X, + X, + X, + X, is binomial
distributed with parameter 4 and p, or equivalently, Y~b(4, p). (show your work).








